PFEFERSETH FE

I PiNE

B B 25%7H218(8) Rk~
B fr  BHAERZB/NESAELE
Hig FIHE BF B Kt #HE BRYH
¥ BB KL A A®RE
BA By BHE AEwE BEAE ZEXE EE A FR
¥ BHA BHEFE BEfE ZAE AR
FI4RER
B B 228 £ 3 fi
BFDE
GifZS 2R KE )zE. 151 —
50kg | kR E(REFD) WHEX (A%E) MOKkER(BRE) NE&=EE (kL)
55kg |EBEEEE(A &K E) — — —
60kg [Nk = A (RBFD) KOFE{ZOKE) g K] (FBF0) —
66kg |#8 5 R th(AEFD) INEZ K (REFD) EFEHB KR —
73kg [mJIEEth(K E) JREEEHERF) — —
81kg |Tr&EE (RBFD) — — —
90kg |AIREFOKE) =R OKL) — —
908 |;EmEAEREEFD) ﬁ#%ﬁ(%ﬁﬁ.‘) _ WERAOKL) [HABH (AR
FDER
GifZS (2R A KE —
40kg |FIERESFN (FT3R) — — —
d4kg |FHEL FR) — — —
48kg [ ROUKE) BEREEFOKL) — —
52kg | ER=AZFH (FEFD) [HEREIEBRID) — —
57keg |&FHZ BTN RIRFERP EEFD) — —
63kg [PTERRIEFHR) — — —
70kg |B3.E/NEESERFD) — — —
7048 |/MNAET (BBFD) S HE -+ (F3FD) — —
BET
B B XY ¥ 3 i
BFDE
GilZS BH BHEE iR BHEE
50kg [AFXE GhA) KRS GEHRE) ERINEEGER) [&EHFH—4 GEH)
55kg |AEAELGEHETE) H#THERERGhE) =G (FIR)  [BEXH (FI1E)
60kg |IEJIIFRA GEHTE) EHERGEHRE) EH%HIFIE) —
66ke [H LA ACEIR) FMEAERE=ZERGEARE) [LAEEGFIRE)  [£FREBGEAR)
73keg [MFZRERANGEH) ERFHMGEEHE) P GZHE) —
81kg |fIRZTBHECER) FR A ECEHE) EEGIGEED) —
90kg |SEEE (GEBH) BREEGEHERE) AEEth(EIR) —
908 [BEH=ZAGZEA) ZEREGEA) — —
TFNDER
GfZS BHERE BH BHE —
40kg [#8FE GZH) IR BEGEEE) — —
44kg | RFTRKTHGEH) 2 ZERGEHE) —
48keg | FHEEBGER) EEEIIGEED FIFREATEGEHRE) —
52kg | RFF#GEH) TEe GEHE) EHERCEAR) —
57kg | AFEEGEH) EHVEHFIR) — —
63kg AR EHGEH) [FRLOEGEAEM) EHEEGEHERE) —
T0kg |RA)IIEFidE GEHRM) — — —
708 |t EENE (FIE) — — —




